BC-08

December — Examination 2023

B.Com. (Part II) Examination
COST ACCOUNTING
Paper : BC-08

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

e - T' ww-w e, ‘e SR ‘! Eel | fawifea ®
T% TUS & FRITgER I9 % SW IS

Section—-A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (i) State the difference between Cost and Cost

Accounting.

ANTd ql g @i H 3= &aisy |

(i1)) What is meant by Re-order level ? Give

formula.
T IR TR ¥ M ANE T 2 g o s

(ii1) Explain Halsey Bonus scheme and mention

its formula.
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(iv)

v)

(vi)

What is meant by Semi-variable overhead ?

Give any two examples.

Fg-IREasiiel Suead § 1 3WE & ? e
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What do you understand by commercial

tonne kilometre ?

Fiforfass =7 fReier ¥ o F= THed § 2
Give journal entry in cost books for recovery
of factory overhead under non-integral system
of accounting.
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(vit) What do you wunderstand by standard

costing ?
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Section-B 4x7=28
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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2. Explain the following :
(1) Prime cost
(i1)) Works cost
(i11) Office cost
(iv) Total cost

o o~

frefafea =1 T Sifsu .

(1) W A
(i) HREM Ara
(iii) wEeE ard
(iv) & @
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3. The annual demand for an item is 3200 units. The

unit cost is ¥ 6 and inventory carrying cost is 25%
per annum. If the cost of one order is ¥ 150,

determine :
(@) Economic order quantity

(b) Number of orders per year
forelt T wg ®1 e AT 3200 gTEAT 1 sET wfA
T A 3 6 T IR T@-TEE & | 25%
fes &1 A TH ARY T H A < 150 F, A A
=1 fuior wifse .

(37) oTfrer eTRwr =M
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. How machine hour rate is calculated for absorption

of factory overheads ?

FREMT AR & AW & A =UeT ST HT
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5. Differentiate between a cost sheet and a production

account. Mention the advantages of preparing a

cost sheet.

AN G A IR WA H SRR TR | ARG G
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. Explain ‘By-product’ and ‘Joint-product’. How are

they treated in process costing ?
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. Enumerate the factors which causes difference in

profits as shown by cost accounts and financial

accounts.
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8. The following information is obtained from X Ltd.

for 2022 :

3
Sales 1,00,000
Variable cost 60,000
Fixed cost 30,000

Find out the P/V ratio, Break-even point and

margin of safety.

X fa. = 2022 &t /9 & 9§

N
IEEXE] 1,00,000
EliCRENI RGN 60,000
TRl AT 30,000

X fa. = IR Y1 § TH-FE1 ST, F9-fa=es
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. From the data given below, calculate :

(@) Material price variance

(b) Material mix variance

TC—-456 Turn Over

Standards Actual
Materials | Quantity Price | Quantity Price
per unit per unit
A 40 units 50 50 units 45
B 60 units 40 50 units 45
100 100
F= fSu @ g9l | AT I
(37) "l qe foero
(&) gt fasor foa=ro
ek ek
|t | qe AT e
ufa gats ufd gehTe
A 40 zewTEAT 50 | 50 sewEAr 45
B 60 TTEAr 40 | 50 TRl 45
100 100
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Section—-C 2x14=28 (iii) Number of workers engaged in

L An T ti
(Long Answer Type Questions) the month 4

Note .— Answer any two questions. You have to delimit

. Calculate labour turn over rates using :
your each answer maximum up to 500 words.

Each question carries 14 marks. (I) Separation rate method
Tus—|q (2) Replacement method
(& s wee)

(3) Flux rate method
der - o5l 91 uv & SW SIS 319 379 IR+ SAferhan

500 vr=8i § ufteifyg ®ifsT) g 999 14 3% 1 g

e SH, 2022 & faU tw wad & wHent faam

Y gt = geed

10.(a) The following information relates to the
personnel department of a factory for the () W & U H HHARA Sl G& 190

h of 2022 : i
month of June, 20 (i) = H *9 VeI 1 T HHAET

(i) Number of workers at the beginning of i
F g&T 8
the month 190

[N

(i) A% | &™ W T T FHHARA Ht

(i1)) Number of workers who quit the factory

in the month 8 & 4
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(1) gorhor R fafy g7

(2) TEEH 9Sid 5N

(3) emErEA R fafa g/

(b) Discuss the advantages and disadvantages of
piece rate method of remunerating labour.
gfgwi w1 TRAEE H W FwE Gty @
O ST S| %0
11. Distinguish between job costing and contract

costing. State the special features of contract

costing.

IUHE AR THEROT qen SRt T e § A= SaEy |
I arTg fauio fafy & fag @rerol @1 v s
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12. Product X is obtained after it has gone through

three different processes. The following information

i1s obtained from the cost records for the month of

September 2022 :

Process I | Process II | Process III

Materials (%) 5200 3960 5924
Wages () 4000 6000 8000
Overheads
(X 18,000)
Input @ X 6

per unit 1000 units — —
Normal loss to

input 5% 10% 15%
Output 950 units 840 units 750 units
Sale of scrap

per unit 34 T8 T 10
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There was no stock of work in progress at the

beginning or end of the month. The overheads are

recovered at 100% of wages. Prepare process cost

account, Normal wastage, abnormal wastages and

abnormal effectives account.

T fafu= gfeenes § 9 oA & 9] 3O X W
B ®1 faasr 2022, W® & fow @ra o |

GoE 9 §E E
gferar I gferar 11 gferar I

et () 5200 3960 5924
LRl 4000 6000 8000
EEiteep
 18,000)
% 6 9fd T

H Y

ERRC 1000 serEat — —
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T = 5% 10% 15%
ESICE| 950 sohtEAl | 840 THEAT | 750 TRl
YRS HIA

T

S foeht 34 T8 310

e & UFY A1 30 | STEHIA HE H HIE Wik Tl
o7 3ufegg weigll & 100% MU W oga foru S
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13. Write short notes on the following :

(1) Maximum stock level

(i1)) Minimum stock level

(ii1) Contribution

(iv) Labour cost variance
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(i) siforae wid &1

(il) IO i &'

(iii) =M

(iv) ™ @ fo=ro
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